oelir B 2 Fonat Hormoewop |

' 5
A § ) e ) ' - [.0I3 ®iD 100
F= Tarm ™ ﬁi n !% ™ [ |

\ A
p= (.03 X;igf + é&’@g}@ %@)(ﬁ%g p‘;(@?@&fé);

{i F; .03 X j@ F ‘\ [WJ« (o m‘f

E/Z—_«. /6333 N-M |



7 Arn bl sen = 47 3 ﬁ, Q) %’
@ uJt g [ ApTeeE z

= (ft m(-3) fﬂ 9.8
5 /

. K)ﬂ{

‘ e s §\f

= fa V9= (1.29 c.gf\){%f’ff 8/

Q(%‘Tf“{‘ﬁj)(*f g)w .43 N

e
-

Jot n= WWMK?MWM@
20(3.9) + n (%)

n(l-43n) =
Mt’?aﬁ@ Eg&/fmfw

[.H45— . &










/\\k' J oA l ﬂ‘\_o,’ Z J
| 3 V= /00 w»?* vz 20 Lmr®

V= 12.6 e

JW = W?&Wtc‘zm ag gﬁ’éﬂﬁ. A Ll S,
y= 4y S TN 45 grato f, Ar EVEN

X+y = (20

plog _
N e = /Pﬁﬂ% X+./0mf‘%«f Y
s

m = M ox + Lo Y
/00 210

S”"fé’u.‘””’g UL K
- IO 210

(lso)(zi)= 210% * /oo (120) = 100X

1/ b% ] o
a0 me” | = ?I.S“Mf{




